N = Ol & A

20118 =204t LESIA ASRY ~ MR
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2 Ml A

A MR

By N &g
&2 M3 2l (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2

M= 1 678,387 670,812 7,575
£ 8,128
Al 670,259

N &= 592,091 588,220 3,871
= 8,128
Al 583,963

M 2tel 429,672 421,086 8,586
s 8,128
Al 421,544

KNSAE 2 (XA 400,972 399, 386 1,586
s 8,128
Al 392,844

101 el ] 133,982 128,325 5,657

04 JI2tHIZ2E2NEE S 133,982 128,325 5,657
OMAEA MNUE R HAAAE J A2Y 50,821
—Jl2s 34,5603 x 100 «11H 38,016
— =X 34,560 x20=*11H 7,604
— Xt 34,560 x5 11 1,901
—2tAlH| 3,000& x100 +11H 3,300
OdltAl, 28 LHEH &Y IFY 83,161
= 34,5603 100 18 62,208
— === 34,5603 x20=*18H 12,442
=P = 34,560 x5 18 3,111
—2tAlH| 3,000& 100 18 5,400

201 L2y 134,394 127,228 7,166

01 AtE222/Hl 97,960 90,588 7,372
Oget=8g| 91,240
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—=SAD| ¥ ZElH A3 10,200
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—XNENE By 2 EA 4,000
—MXZAY 222 & JLAM 252 222 4,000
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—RSUEE & HHll==2S 5,400
—SsB8NdEEMNS =88 3,500
—XNsS0lH === 1,000
—MEHE X3 =2 4,000
— S0 === 5,000
— XA QY AENE HRE =8 500
—He=g AENJEAE HR =82 10,000
—Hlel=g AEIE S| AES 2,640
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O232= ¥ HMAl 18,000
—XgHMI2XNN R2BS 18,000
OA& & HIs Xl 18,434
—XHIIAAEH SRNES 7,920
—HTEH |2 3,720
— XN Hs3SED |22 1,550
—dg2el ARSAIAE SN2 3,000
— & A A =E X2 8 RANE 2,244

202 (4Hl 11,040 11,520 A 480

01 =LA b 11,040 11,520 A 480
O=UW0 bl 11,040
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OXNZgME FRFa 2,000
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207 Ao 33,700 0 33,700

02 ™ AN Y| 33,700 0 33,700
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303 &z 5,000 5,000 0

01 Z&3 5,000 5,000 0
ONRISRA HEtsl 5,000
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OEZEXNLAN HEEALE 2 19,700
OSSHXNLAMN BEAAE 2 5,300
ONA=LdEFEAIAE SAES 12,000
ON2=2&EE3 NE3t AIAE SMEF 16,256
= 8,128
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200,0009 * 128 2,400

202 Ol 3,500 3,500 0

01 2LH0iHI 3,500 3,500 0
ONgxe = 3,500

HHYSHZH (M2 86,296 82,592 3,704

|23l 86,296 82,592 3,704

|2 ZHI(XHA) 86,296 82,592 3,704

201 Yer29| 22,896 21,552 1,344

01 At22t2ll 22,896 21,552 1,344
ORAN2Y I 22,896

202 o4t 59,200 56,840 2,360

01 204 59,200 56,840 2,360
O=2U 0l 59,200

203 ¥RFEXY| 4,200 4,200 0

04 FARILRFXIL| 4,200 4,200 0
ORM2IYL2FTAY| 4,200




